Determine whether the following sequences are convergent or divergent.
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A. (1) convergent (2) convergent (3) convergent
B. (1) divergent (2) convergent (3) convergent

@ (1) convergent (2) divergent (3) convergent
D. (1) convergent (2) convergent (3) divergent
E. (1) convergent (2) divergent (3) divergent
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Test the following series for convergence:

. I is divergent; II and III are convergent.

. I and II are convergent: III is divergent.

. I, IT and III are divergent.

A
B
C. 1 and III are divergent; II is convergent.
D
E

. I, II and III are convergent.
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Alternating Series Estimation Theorem what is the smallest number of terms needed to

find the sum of the series with error less than 1/157
—

& >

—0435_ & tha wegntudte

'S
.
on

o next term (Lot wa €hpqy

’i’“ v

©® 0o
o N




Wwe
o
&l
o folwvt Jfor
e
S
SPA -

|
S < nt
X
"ty g

"
?
s
-
.\ N
ifpe ¢k
"ot @ -
. . less ¢
r"
&

fo
"
e
N ¢the
A $orre
2y
g

[
L'yl

1 T
‘e
S
<a
~
‘¢ - -
:'
=2




o0 n
: . *
For which values of ¢ is M AH + — | convergent?
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A. All values of c.
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C. | < 2.
D. || > 2. roul tert laaks Jeadl hase

@ No values of c.
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Find all values of p such that the series m A e v converges.
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8. Which of the following series converge conditionally?
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